F2H ZAKEME Gokk)

SR VI 2%
1. (k) fEAABCH, a=4, b=33, c¢=5, W BCil FHFL 4D (KN
=R 22
BRI 1
Al cosB:az“Lz‘:bz:;O, £ AABD F', AD? = AB>+BD>-2AB-BD-cosB =22, JIfLL AD=+/22.
fRE 2:

W AD =x, WP HI LADC = n— ZADB , FrVh cos ZADC = cos(w — LADB) = —cos ZADB ;

2 2
+d—27 +4-25 o

= == 3 x=v22.
2X X X2 2XXxX2

2 D 2

2.(2022 E [ 114 sk % % )L AABC ', N A, B, C BIXT 539N a b, ¢, %5 bsin C +asin A = bsin B+¢sinC

NN A A= s EHD RN BCHIYRE, He=2, 4D=V13, Ma=

R %; 2\/7

2k 1: KN bsinC+asin A=bsinB+csinC, Frllbc+a’ =b"+c¢>, MIib* +c¢* —a” =bc,

2 2 2 7l
g — I A T i 15 —
b"tc —a” _ be _ , G 0<A<ai]fF 4=

M cos A = =
2bc 2bc 2 3

ST EW M, g =b*+c¢*-2bccos A, 3{%022%!114:%{%)\%355%: a’=b*+4-2b Q,

2 e
a

T r13-4 41357
NN LADB = 1 £4ADC , JIiLA cos ZADB = cos(w — ZADC) = —cos ZADC, -2 D

7: 213 Yo i f% |
2 2

WS, o’ =2b"-44, RAROEIHE: b°+2p-48=0, fAf5: b=61 -8 (&%),

RAROATKEF a=27.

BRA 2:




| e

59 D J BC 11, FibL AD =—(AC+ AB)+ AT [4D] :%(‘TC‘2+‘TB‘2 +24C-4B),

$ﬁ13=%(b2+4+2b-2(:os§); B15: b=68(-8 (&%),

Frbh @ =b* + ¢ —2bccosA=36+4—2><6><2><cos§:28 , Wa=27.

RIA 3:

27
3

el 2, BE=AC=b, AE=2AD=2J13s /ABE =7— A=

b

E AABE Y, HH45% €, AE* = AB*> + BE*> -2AB-BE -cos ZABE ,

FELL 52 = 44b7 —2x2xbxcos 2%, f#fB: b=6mk -8 (&%), BFHR a M FME: 2.

3
B = b
2 ; B — E
A - c 4 ; C
51 %2

) ™
— —_—

3. (k) fEAMBCH, b=4, c=2, W BC I EHIHZ AD HK HBUE Y5 [H =2
ZE=: (1,3
i 1
K, ZADB=x-/ADC , FrLAcos ZADB = cos(x — £ADC) =—cos ZADC,
aZ 2
2 2
AD? + BD? — AR AD? + CD? — AC? AD” +——-4 AD” +—-—16 2
i A2+ __AD D —AC 4 4 piskap=Jlo-“ @,
24D BD 24D -CD — o ap. 4 4
2 2
‘a+b>c "aed 52
R KNda+e>b, Fillla+2>4, h2<a<6, G5O HE 1< 4D<3.
hte>a 2+4>a
A 2

===

¥ /BAC=0(0< <), HEE, AD:%(AB+AC),

FiLh AD =i(@2 + AC +24B-AC)

::le+42+2x2x4xum9%:5+4um9,

4
RNNO0<O<m, FrLh—1<cosO<1,

U\ﬁﬁl<EZ =5+4cos@ <9, Eﬁ(l<‘@‘<3.



4. (***) %EA.ABC Ej! Pt‘l;{_: Aw Bw CE@XYT@%%U% a-~ b\ Cy a%ﬂb=4, C=\/ﬁ! D%BC@L_‘;#;
CD=2BD, %5 AD=2, i a=

EE: 6
FBRH -
WBD=x, WCD=2x, KN £LADC=r—-~4ZADB , PrLLcos£ADC = cos(n— £ADB) =—cos ZADB

2_ 2_
Eﬁl4+4x 16:_4+x 10} Fibl =2, #a=3x=6.
2% 2x2x 2X2XX

4 J10

G 2% DJCB

5. (2023 « £FE 4 « kk k) AABC ', /BAC=60°, AB=2, BC=+6, AD V"% ZBAC %& BC T i
D, N AD =

ER: 2

FRHT -

RZEM, BC*=AB*+ AC*-2AB- AC-cos ZBAC,

BV SAARANA 5 6=4+ AC° —2x2x AC xcos60°
fR13:. AC=1+3E1-3 (&),

1 1

, g 1 , ; :
BT S i T8 i, = B ﬁﬁHEXZxAstm.’SO“+5><(1+\/§)><AD><811'13O”:§x2x(1+\/3_>)><sm60“',
fiifs: AD=2.
C
D
B A

6. (2022 « JHFGHERL « Yok k) 1EAABC Y, A A. B. C BIXHAS5 N as by ¢, B DL BC F, H AD

-9y ZBAC, AD=+/3, bsinB—asinA=c(sinB—sinC), sinC=3sinB, M AABC TR N

zg, W3
3

fRAT: N bsinB—asin A=c(sinB—sinC), FTLAp* —a® =c(b—c), MMib*+c*—a’ =bc,

2 2 2
— 1 W A . . Y
ﬁﬂlcosAzb e e = o¢ —i— y %’%O<A<EEH%'°A:£; A HNsinC=3sinB, illc=3b:
2bc 2bec 2 3




KA AD R /BAC I F4y 2%, EA—E, AL £CAD = LBAD—%
j“%SMCB+SMBE, S s anr? ﬁﬁU\—x Ixbxsin =+ — x«/gx?)bxsmz——xbx%xsm—, ﬁﬁb—i, c=4,
6 2 6 2 : S
1 1 4 =
FITLL S, o = =bcsin A =—x— x4><s1n£:£.
2 2 3 3 3

¢=3b

7. (2021 * &% 14 » whK) ICAABC N A B C XA AN as by ¢. BHIb*=ac, B D1

!

i1 AC I, BDsin ZABC = asinC .

(1) iFMH: BD=b:
(2) # AD=2DC , >R cos ZABC .

fi2. (1) AN BDsin ZABC =asinC, ffLABD-b=ac, X b°=ac, FfiLABD-b=b>, ¥ BD=b.

(2)

AN AD =2DC , ﬁﬁuADz%, CDzé, (1) ¥1BD=»b,

2 2
2 2 2 —4+a =-b 2 2
7€ ABCD 1, cosC:CD + BC”—BD _ 9 :9a —8b ,

2CD-BC ) b 6ab
._-a

3

2 2. 2 2 2 2 2 2
7 AABC ', cosC =" Hhi e : Jﬁﬁuga ST @b e , BI1G: 64’ -11b"+3¢" =0,

2ab 6ab 2ab

K b* = ac RN EREEFE: 6a° —1lac+3¢” =0, ¥ Ba—-c)(2a-3¢) =0, ﬁﬁuazg,@zazgc,

B 1 e . 3 6
Edzgr mﬂb=@=f0, JJ:I:HT.I‘CI-FZ?: —I_:;/§C<C:l Z:’%LE'I‘EE‘H ﬁﬁU\a=EC: b:\/g:§05

a’+c*—b’ 202—'_0 _562 7
W cos LZABC = _ 2 2 _ L
2ac > 12
2-—c-C
2
4 22
3
b
C
D_
3
B . C

8. (2022 Fd AL AWK ) IEAABC F, A A, B, C BIXT1I3 RN a, b, ¢, E%12acos A+bcosC+ccosB=0.
(1) 3R A;




(2) Fa=2y3, K BCiH EHFL AD KKK/ ME.

f%: (1) KIN2acosA+bcosC+ccosB=0, PTLL2sin Acos A+sin BcosC +sinCcosB=0 @,

N sinBcosC+sinCcos B =sin(B+C) =sin(r—A) =sind, FRAXOA1TF 2sin 4cos 4+sind=0 @),

NHNO<A<rm, Frbhsin4>0, MERQF L) Esind 115 2cosA+1=0, ﬁﬁUcosA:—%, ﬁﬁA:%r.
(2)
i, I~ £Z4ADB =7 - ZADC,

It LA cos ZADB = cos(r — ZADC) = —cos ZADC

Wi AD’ +BD* - AB*  AD’ +CD* — AC’
24D - BD 24D-CD

AD’ +3-¢*  AD*+3-b’
234D 234D

i

b

2 2
il AD? = 2 ;" 3 @,

LZEM, a?=b>+c* =2bccosd, ¥ a=2J3

A:%ﬁ)\ﬁ”«%‘c12=b2+c2+bc @,

h* + ¢’
2

FTAB” +c* 28, At \@n[f3 AD* 21, Fill AD>1,

ROA[B12=b>+c2+bc<b*+c* +

3
== (b* +¢%),
2( <)

M b=c=20H%%S, 4D _ =1.
A
m
B £
3 D 3

9. (2022 « {EPHAEL « sk k) fEAABCH, 1 A. B. C XS5 as by ¢» H 3a—2bsinA=0.
(1) 3K B:
(2) # B N%ifs, HABIESEE ACK T A D, BD=+2, R AABC ITHRIAR I 5/ ME.

fR: (1) B ANBa-2bsinA4=0, FiLh3sin 4-2sinBsin4=0 @),

N 0<A<rm, Fillsind>0, ﬁﬁfEﬁCDEjé@iEsinAEf%‘\ﬁ—ZsinB=0, ﬁﬁU\SinB:\f,

é%%0<8<xﬁf’%8:§,ﬁi2?”.

(2) (1) 5% B NEEA, ')_J.[JB=237[, ﬁﬁuSMBC:%acsinBzgac,




XN BD 2/ B 42, Frbh 4ABD=4CBD=§ ,

L - =SMBCEH%%c-ﬁ-sin%Jr%a-\/E-sin%:gac, WIS J2(a+c)=ac

ﬁﬁU\ac=\/§(a+c)2\/§x2@, W ac>8,

YHN Y a=c=22 W IES, LS, . =§aczgx8=2ﬁ, (S ) =243




